o then the: solutron 1s

“ ‘ 2 .: ‘_ Fmd a mlxed strategy game can be solved by
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i, * Answer ALL:questions
S ALL questrons carry EQUAL marks

Cob ‘Wh1ch there is no. non-negatlve replacement rat1o in solvmg a Lmear Programmmg Problemf’f ARl B

(1) fea31ble B (n) bounded (111) unbounded (1v) mﬁmte

(1) Srmplex method (u) Graph1cal method (111) Hungarlan method (1V)Degeneracy

L 3 Whrch varrables are ﬁctrtlous and cannot have any physrcal meamng‘7 AR

R () Optlmal vanable kR 'j (u) Decision variable -
' (111) Artrﬁcral varrable AT (1v) None of the above

S 4. Deﬁne srmplex algorrthm Wthh method is: used to deal wrth the srtuatron where an

\ o 6. .: _ Flnd the fea51ble regron of a LPP is empty, the solutlon is..

et 7 ‘ Mentron any column or raw of a srmplex table is called a

O el nfeasrble startrng basrc solutron is glven'7 ST S T
L S M-method (11) Slack varrable (111) Srmplex method (1v) None of the abOVe SRR

3 5 ‘Where graphrc method can be apphed to solve a LPP when there are only varlable E L
o (1) One e o (1) More than One (111) Two _; (1v) Three ' :

e : (r) Infeasrble (n) Unbounded (111) Alternatlve y J(»iv)_}Nonel"of,_the above -

m/ -

s (1) Vector IR (n) Key column & (m) Key Rr(lv)Noneoftheabove B

o 8 b Mentlon VAM stands for L L

() Vogel's Approxrmatlon Method o (n) Vogel’s Approxrmate Method

T (i) Vangelis Appr0x1mat10n Method () Vogel's Approximation Method

| 9. Whlch method of formal calculatlons often termed as Lmear Programmmg was developed S ,.

e 5 '_‘11 a) Deﬁne Operatron Research and rts types of Operatton Research

el 12 a) Calculate the 51mplex method to solve the- followmg LP problem o

- later in whlch year'? .

S (1) 1947 (11)1988 (111) 1957 (1v) 1944 S

N 10 To make an unbalanced a551gnrnent problem balanced what are added wrth all entnes as R
zeroes‘) BRI

(1) DUmmy rows (n) Du,mmy columns (111) Both A and B (1v)Dummy entrles

BRI o Answer ALL QueSthIlS " R a u
ALL Questrons Carry EQUAL Marks ) (5 x 7 35) - ' '

OR‘ Y -
b) Solve the followmg problem graph1cally Mrmmrse and Max1mrse Z 3x + 9 y

subjectto the constralntsf £ e N

e x+y>10
x>0y>0

Max1m1ze Z= 3x‘-x~5x2+4x3 STEeE R
subJectto the constramts ey L T e
2%, +3x,. <8 |
_’ 2%, +5x3<10 .
3x,+2x2+4x3<15 andxlxz,x3>0
Sl oR

s /i ‘.




| b) Solve the followrng two-phase s1mplex Method Mlmmlze z 4x, + 3x2

‘ ‘ - Lo ' subJ ect to the constralnts -
2x,+x2210 3x1+2x2$6

R , x1+x,>6 and x1>0 x220 |

13 a) Wnte the dual to the followmg LP problem Maxnmze z= X ‘ x2 + 3Jc3

subjeet to the constramts :

2 2x, 2x2 3x3 < 6
SR _ ~_ OR g

b) Explam the types of Integer Programmmg Problems L oo
14 a) Explam the steps mvolved in solvmg a transportatlon problem usrng Row mlmma method
oo OR :
b) Apply MODI method to obtam optrmal solutlon of transportatlon problem usmg the data

B

x‘+x,+x3<lO 2x,»—x2--x1 and x,xz,x;>0

© 0 Comt..o o

""MachmeA b
[ Machine B ]
" | MachineC. |

- Dl

Dy

D‘.‘,:" |

19

o

70

30

50

G Supply

a0 -

R

70

20

g

s

18 ‘-
PR R

' lS a) Explaln the steps mvolved in solvmg a. as51gnment problem usmg Hungarlan method

"OR -

b) Show there are 5 _]ObS each of wh1ch has to go through the machlnes A and B m the order e

AB The processmg times (m hours) are glven as -

Job-

1

J2-

BT

Machlne A ‘

2.

Ty

‘Machine B

Determme a sequence of these _]ObS that will minimise the- total elapsed trme T. Also ﬁnd
the mlmmum elapsed time and 1dle tlme for each of the machmes :

subject to the constramts
A1) 5x, +x2 >10

2Jcl +xZ >10

Subject to constramts —3xI :

» .;.-_, 19 solve the followmg transportatlon problem usmg Mod1 method
' ;S.:‘WS‘ '
__:;12.
18
"150 |

| 1_20 Solve the followmg n _]ObS and Three maehmes problem in the order Machme A B C Also SR 0 e
~find the total elapsed time and 1dle tlme f01 all the machmes : SRR

SECTION c (30 MarkS)

. Answer any THREE Questlons
ALL Questlons Carry EQUAL Marks

o 16 Solve the followmg LP problem usmg graph1cal method Mlmmlze z 3x‘ +2x2 .

X —3xl +25, <6,

‘)

3

P i) x> 6,
R 17 Solve the followmg LPP usmg Big -M Method Mlmmlze z= 4)5l + 3x2 Subject to constralnts
. and x[>x2 D O '

~—4xI -

(111) x, + 4x2 2 12

3x2

x +x226

. o 18 Solve the followrng LPP usmg dual-31mplex method
-6,

GBx 10 30)

andx,,xZ.AO

Maxrmlze z——2x, :
2x2 :3,

Factory/Warehouse g

Wy

Demand

SR

16

20

Co2000

14

160 |

26

E 4

gk .

andxl,xzzo

Supply

17180

120

450
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3
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